SECTION 1

MAX. MARKS: 1X 25 =25

Note: Each part of Section 1 has four possible answers (-), (b), (¢), & (d). Encircle
the correct answer.

111,

V.

V1,

Vil.

Vv25isa
(a) anirrational number  (b) arational number
(c) aneven integer (d) none of these

The set of students of your class is
(a) infinite set (b) finiteset (c¢) nullset (d) solution set

The order of the matrix [g ‘i ;] i

(a) 3 x2 (b) 2% 2 ©) 3x1 (d) 2x3

3x> +6x+1=0 isa
(a) polynomial of degree 3 (b) polynomial of degree 1
(c) polynomial of degree 2 (d) polynomial of degree 4

-

To resolve a combined fraction into its parts is called :
(a) rational fraction (b) partial fraction
(¢) combined fraction (d) none of these

The geometric mean between a and b is

b , b=
@ OF=
(c)ﬁ}?2 ( d)+vab

-

A die is rolled once, the probability that the dots on the top are greater than
3is : )

el 1 ;
(a) : (b) = (c) : (d) none of these
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Viil.

X1.

X11.

X1l

X1V.

XV.

XVI, |

Number of terms in the expansion of (a + b)™ 1is

(an+1 bn-1 (c)n (dyn*+1
6° is measured in e

(a) Circular System (b) Sexagesimal System
(¢) MKS System (d) CGS System

sin(a +pf) =

(a) cosacosff —sinasinf (b) cosacosf -+ sinasinf
(¢) sinacosf —cosasinf  (d) sinacos f - cosasinf

The period of sinx is

T i1 / 27
(@3 (®) 3 © Ad)2m

The number of bacteria in a jar doubles every mirute. After 40 minutes the

jar is full. The jar would be half full after :

(a) 20 minutes (b) 25 minutes (c) 32 minutes (d) 39 minutes

The arca of a square of side length 6 =
(a) 18 square units - (b) 36 square units
(c) 24 square units (d) 48 square units

o R 5
dx(x 3)° =

(a) 10x(x2 —3)* (b) 2x(x? — 3)*
() 5x(x2 ~ 3% (dy 5t 2)*

g

xn+1
(a)

X

n=1
o +c . (c)

xn+1

+c (b)

n n+1

The value of x + x(x™) whenx = 3 1is::
(43187 (o) 21 (c) 84 (d) 81

+c (@) x* ¥
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XVil.

XVILI.

VI,

XX.

XX1.

XX11.

XX111.

1, Vi

XXV.

A pentagon has :
(a) 3 sides (b) 4 sides (c) 5 sides (d) 6 sides

Equation of circle with center at origin and radius 7 is: .

(Vs =ye=r? Bt Fyisrs (Oxdys=r

[1 O] i5
g oy
(a) scalar matrix  (b) diagonal matrix

(c) identity matrix (d) zero matrix

vl e Y e e
@5 (110 ()20 (d)8

Evaluation of 8* x 83 x 877 ig
(@ 1 (®O0 (c)8 - (d) none of these

dx—=y=71

The distance light travels in one year is approximately 5,870,000,000,000

miles. The distance light travels in 10 years is
(a) 587 x 10° miles (b) 587 x 10! miles
(c) 587 x 10~ miles (d) 587 x 10710 miles

The simplest form of 2.5 : 3.5 is? ]
(a) 107 s e 25 (€} 0:75:1.25-.(d)5 .7

The average of first 12 natural numbers is:
(a)y6.1 . (b)6 epemeid) 2

A clock strikes once at 1 o’clock, twice at 2 o’clock, thrice at 3 o’clock and

so on. How many times will it strike in 24 hours?
(@)78 (b) 136 (c)156 (d) 196
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SECTION 2

MAX. MARKS: 3 X 5=15

Note: Solve the following QUESTIONS in the given space, each question has

-

three marks.

i . s . .
Q No.l | convert the equation ﬁ * Z-y— =toa quadratic equation.

Sol:

Q No.2 | The sum of two consecutive numbers is 41. Find the numbers.
Sol: ' '
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['Q No.3 | Pakistan and India play a cricket match. Find the probability that
the match ties.

Sol:

Q No.4 | Find the number A .M. between 3V 5 and 5V'5.

\

Sol:i
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{ Q NO.S If ?’Iclz = nCﬁ 3 ﬁnd n & J

Sol.
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SECTION 3

MAX. MARKS: 5X 2 =10

Note: Solve the following QUESTIOl\fS in the given space, each question has five

marks.

_ - :
Q Nl If y=x*—2x%+4,prove thatzgc— =4y —3
Sol:
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1
(Q No.2 \ Find the value of 7 if a4 = % and a; = —%’5 of a G.P. &
Sol:
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